

All Operations (E)

Calculate each sum, difference, product, or quotient.

$9 \cdot 3 =$	$4 : 2 =$	$4 + 9 =$	$11 - 3 =$
$4 - 3 =$	$1 \cdot 9 =$	$4 + 8 =$	$10 - 9 =$
$8 : 8 =$	$8 \cdot 7 =$	$4 + 6 =$	$3 + 9 =$
$3 \cdot 1 =$	$14 : 7 =$	$5 + 7 =$	$14 - 8 =$
$5 \cdot 9 =$	$6 - 3 =$	$45 : 9 =$	$8 \cdot 9 =$
$11 - 3 =$	$12 - 5 =$	$5 \cdot 6 =$	$5 \cdot 3 =$
$5 : 5 =$	$7 + 1 =$	$9 : 1 =$	$6 - 1 =$
$7 \cdot 7 =$	$7 \cdot 1 =$	$6 - 4 =$	$36 : 6 =$
$4 \cdot 3 =$	$9 - 8 =$	$7 - 2 =$	$9 \cdot 1 =$
$5 + 3 =$	$4 - 2 =$	$7 + 2 =$	$3 \cdot 2 =$
$7 + 2 =$	$7 + 8 =$	$9 \cdot 4 =$	$13 - 9 =$
$6 + 4 =$	$3 \cdot 6 =$	$5 \cdot 4 =$	$10 - 9 =$
$2 \cdot 2 =$	$35 : 7 =$	$9 \cdot 9 =$	$72 : 8 =$
$24 : 4 =$	$27 : 3 =$	$4 + 4 =$	$9 - 6 =$
$10 - 3 =$	$5 \cdot 6 =$	$13 - 7 =$	$8 - 7 =$
$18 : 2 =$	$10 - 6 =$	$5 - 3 =$	$49 : 7 =$
$20 : 5 =$	$1 \cdot 7 =$	$8 + 3 =$	$7 \cdot 9 =$
$6 : 3 =$	$3 + 1 =$	$45 : 9 =$	$1 + 1 =$
$12 - 8 =$	$45 : 9 =$	$7 - 6 =$	$2 : 2 =$
$7 : 7 =$	$8 \cdot 8 =$	$2 \cdot 4 =$	$6 \cdot 8 =$
$9 - 8 =$	$8 \cdot 6 =$	$2 + 9 =$	$25 : 5 =$
$1 + 3 =$	$13 - 9 =$	$7 \cdot 7 =$	$4 + 8 =$
$54 : 9 =$	$1 \cdot 1 =$	$4 + 9 =$	$2 + 3 =$
$3 + 3 =$	$1 + 5 =$	$7 \cdot 4 =$	$18 : 9 =$
$6 + 5 =$	$1 + 5 =$	$7 - 2 =$	$3 + 1 =$